Al Of & AF &€ H M M
20099 &= 20l A LB A
SN AE =Xt
MM =X08 RS
ol HASE =NEZ (o2
CS(BI) - MBEAY - BAS of Ao S HRS2
Ar3l = Xl Bt 21,351,776 18,614,989 2,736,787
= 10,446,415
= 589,201
== 3,440,272
o 6,875,888
SXIE 25 3,244,008 3,407,585 N 163,577
= 924,881
= 66,635
= 1,139,905
o 1,112,587
NAsEsE =sKNSA 24,600 27,000 N 2,400
A EXAE L HASS A2 24,600 27,000 N 2,400
201 LBr2AH| 3,600 5,000 A 1,400
01 ArR2t2lbl 3,600 5,000 A1,400
ogdxz 3,600
—F=ES e S 400, 000& *3CH*33] 3,600
203 Y R=4&H| 1,000 2,000 A 1,000
03 AMFAHIFZAH| 1,000 2,000 1,000
OMBIEXLRFXN 20,000 *10H x53| 1,000
301 LBEtEAZ 20,000 20,000 0
01 A E&EE56= 20,000 20,000 0
SAANE 2 HASSE /2 10,000& *1,000H *23| 20,000




SN A= D
Ma: =2x0|8 2E

el mOjOl SXEA (e e
SN HB S (BH) - MBEAY - BAS of Ao S HRS2

oo 8Xsd 3,019,408 3,380,585 N361,177
= 924,881
= 66,635
== 1,139,905
o 887,987

ZOHOl MEtord 1,600 1,600 0
= 800
o 800

301 LEEAZ 1,600 1,600 0
== 800
o 800

01 MIBEHHH3 1,600 1,600 0
OFSHLHEMOISatHl XI& 1,000,000& x1H *13] 1,000
= 500
= 500
OFSHLEEMO 228G FSKH 600,000& x1H *13] 600
o= 300
- 300

o= 741,397 1,602,453 A861,056
= 518,978
o 222,419

301 LEtE A2 741,397 1,602,453 861,056




SN A= D
Ma: =2x0|8 2E

el mOjOl SXEA (e e
SN HB S (BH) - MBEAY - BAS of Ao S HRS2

301 LBEtEAZ = 518,978
iy 222,419

01 MIBEHHH2 741,397 1,602,453 861,056
oM=< X3 741,397,000& 741,397
= 518,978
= 222,419

ZOHotsS 2L 34,481 105, 150 AT70,669
= 24,137
iy 10,344

301 LEEAZ 34,481 105, 150 AT0,669
= 24,137
o 10,344

01 MIBEHHH3 34,481 105, 150 AT70,669
OFMoIsELE X2 1,379,240 x25H 34,481
= 24,137
= 10,344

ZOHQ!l XHHSHH| K& 1,183 1,140 43
2 946
2 237

301 Et8AZ 1,183 1,140 43
2 946
iy 237




SN A= D
Ma: =2x0|8 2E

e Zoel 2Xsd (S ®&)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2

01 AMEEE=SGZ3 1,183 1,140 43
OHFOHCI Xt &l XI& 197, 1662 «6 Y 1,183
= 946
o 237

ZoHelel =zl 19,410 11,852 7,558
= 15,528
= 3,882

301 2etE 4 s 19,410 11,852 7,558
= 15,528
= 3,882

01 A2 E=2063 19,410 11,852 7,558
O&ofele =zl K& 16,115,000& 16,115
= 12,892
o 3,223
OZM BT 2Hl X 3,295,000& 3,295
= 2,636
o 659

oSS &EH] 200 388 A 188
= 100
= 100

301 2et2 4 s 200 388 A 188
= 100




SA ASISX 0
g =X01g A=

e el S5 (o E
SA BB S(S) - NRAY - BES of & o S DB
301 LEtE A3 = 100
01 Aal2¥H 0= 200 388 A188
OFMsFadl X 20,0002 *x10H 200
= 100
o 100
ZOoHe HosSA &2 166,676 113,928 52,748
= 7,500
S 47,679
= 111,497
301 Let2a= 34,888 32,728 2,160
& 7,500
== 4,764
= 22,624
01 A2 E=63 34,888 32,728 2,160
OFAHM ASLHO|2 ==H| XS 25,000,000 *1E x12] 25,000
= 7,500
[ia 17,500
OFSEMAH 2Hl XA (ARLHIISZO) 6,688,000& 6,688
= 3,344
o 3,344
ONMSEMA 7 XA(HAS WHRII2Z0H) 2,000,000& 2,000
< 1,000
s 1,000




SN A= D
Ma: =2x0|8 2E

el mOjOl SXEA (e e
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
OHSeE22 dXAMS 600,000 600
= 120
i 480
Osztadst)| B8 600, 000& x1H +13] 600
= 300
s 300
307 QIztoIA 22,000 22,000 0
05 CIZtRE =3 22,000 22,000 0
OEMHEA 24 22,000,000& 22,000
402 QI2EXHE0IH 109,788 59,200 50,588
< 42,915
= 66,873
01 22 R=E=x 10,000 23,000 A13,000
OSSHMHL F=HZ ML ALY 10,000, 000& 10,000
o= 3,000
s 7,000
02 QI2FCHE ALY 99,788 36,200 63,588
OSSHMHeI=R01¥a &X 99,788,000& 99,788
= 39,915
= 59,873
MEEXRI|72 2 1,416 2,296 A 880
= 1,133
i 283




SN ARSI Dt
MM =X08 PE
el mOjOl SXEA chelE
= A CCHRI(EI) - HRAY - A Aol e =2t
301 et a3 1,416 2,296
= 1,133
= 283
01 ASIE2EE=63 1,416 2,296 A 880
OMgExlz ¢ 47,2003 309 1,416
= 1,133
i 283
SUHE FEHINHES= ALY 11,400 11,400 0
= 5,700
& 2,850
= 2,850
402 RIZ2HX20IA 11,400 11,400 0
= 5,700
= 2,850
i 2,850
01 QUZEREEX 11,400 11,400 0
OsHEZ0HQ FEIHEZ AL 3,800,000& *3Jt+* 11,400
= 5,700
& 2,850
i 2,850
=30 ==20/HR*H 417,800 148,387 269,413
= 292,460




2N

At2l = X 2t

MM =X08 PE
el mOjOl SXEA chelE
SN EY O (BH) - MR - Ba= Aol e =2t
SEZ0Me S20/I8t*H = 43,580
= 81,760
402 RI2HXHE0IA 417,800 148,387 269,413
=2 292,460
& 43,580
i 81,760
01 QUZEREEX 417,800 148,387 269,413
OXOfelAtz &= X & 381,800, 000& 381,800
= 267,260
& 38,180
= 76,360
O&Ols HEX A 36,000, 000& 36,000
= 25,200
o= 5,400
i 5,400
SST0HR S MEXRA 9,420 3,377 6,043
= 3,768
= 5,652
402 QI2tXHE201A 9,420 3,377 6,043
= 3,768
2 5,652
01 QIAERZE 9,420 3,377 6,043




SA ASISX 0
g =X01g A=
e el S5 (

m
0
]
o

SN BB (B) - HEAIY - BAS o Az

P
12
2A
R
JeH
0l
o

OSSZMHY NEH& T 9,420,000 9,420
3,768
5,652

H

HJ

ZoHe EXAE 2 1,363,997 1,226,569 137,428
59,135

HI

983,613

H

H

321,249

307 @l

e
v

HOI & 1,363,997 1,226,569 137,428
59,135

HI

H

983,613

M

321,249

HT
FA

02 I2taat 1,363,997 1,226,569 137,428
61,050,000& 61,050
26,750
6,800
27,500
66,813,000 66,813
23,385
20,044
23,384
OZMHALEEANLE 2 1,179,009,000& 1,179,009
943,207
235,802

O
=
&3
0z
2
e
0
At
an
x
m
H0
0

O
03
2
o
o
A
HT
fol
=
x
Ho
08
M HAC

HI

Mo

M




SA ASISX 0
g =X01g A=

e Zoel 2Xsd (ctel &
S B HRAEH) - MRAY - B 0 &t o4 e {InE=FT
OZOQMEANLEER OF2t=E 9,125,000 9,125
= 4,562
i 4,563
QIS MHEINE 32322 N 18,000,000& 18,000
& 9,000
s 9,000
OEIAANEXNZEH 2 XN& 30,000,000& 30,000
= 9,000
i 21,000
OOl MEAIL JIsE2 45,460 0 45,460
= 22,730
& 11,365
= 11,365
402 SI2HHE01& 45,460 0 45,460
= 22,730
= 11,365
= 11,365
01 2ARE2EX 45,460 0 45,460
OZMAMEAIL JsEL 45,460,000& 45,460
= 22,730
= 11,365
s 11,365
ZOHQl AtSIE O 87,310 59,200 28,110

_10_




SA ASISX 0
g =X01g A=

e el S5 (9 &8d)
SA B SR(EH) - NRAY - B S 0f &t S Bl R E 2

ZOHC A3l & O s 30,317
= 56,993

101 Q1A 66,690 34,200 32,490
< 20,007
= 46,683

10 JIZHZ22XAsSE+ 66,690 34,200 32,490
OSHSHMAE=20] BiXI 855,000 1374 & ~6H 66,690
S 20,007
s 46,683

307 2120l A 20,620 25,000 A4,380
< 10,310
= 10,310

02 QlztHAEx 20,620 25,000 A4,380
OANZZOHe! JI=ZTHE u=s 5,000,000& 5,000
S 2,500
s 2,500
OdHMe Jsss s N 4,000,000& 4,000
S 2,000
[ia 2,000
OZMHM=s0tel 243t XA 3,810,000 *2JH &t Al 7,620
== 3,810
s 3,810
OXZ0Hel a2t Zelstn 23 1,000,000& =28t 5 +23| 4,000
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SN A= D
Ma: =2x0|8 2E

Sl Zojel =XNET (B9 @2
S HH - S(BH) - HEAY - BE=2 Ofl At o %gi HRZ2
= 2,000
= 2,000
ROHQ FUAXKME 20| 66,690 51,300 15,390
= 33,345
= 16,673
2 16,672
101 1248l 66,690 51,300 15,390
=2 33,345
= 16,673
2 16,672
EBEDEEP TN 66,690 51,300 15,390
OFojol ZQAXXME T 20| 855,0002 *1374 2 *6 2 66,690
2 33,345
= 16,673
2 16,672
ZOHQI= X LRl AL LS 12,112 10,745 1,367
= 6,056
= 3,028
2 3,028
101 Q124 12,112 10,745 1,367
= 6,056
= 3,028
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2N

At2l = X 2t

MM =X08 PE
el mOjOl SXEA el H )
S ZE - E(E) - MRAY - B shoy e 52
101 1A 4] = 3,028
10 JIZH22NsSEs 12,112 10,745 1,367
OZMA=EXL RtelALS 11,200,000 * 14! 11,200
= 5,600
[ 2,800
s 2,800
O= U 912,000& 912
= 456
S 228
s 228
ZoHel FF2 X ALK 38,856 30,800 8,056
201 el 7,256 1,800 5,456
01 AtR2cibl 4,256 1,800 2,456
OMASHEMY FE2AAMX 25 2,500 x50 122 1,500
OSE=Ha & 231 72¢ 1,000,000& 1,000
OZMHAXNESXN Y 2 HNFEF+W= 1,000,000& 1,000
OS2 HI(0F2X SAHl) 7,000 x38 x32« 122 756
02 323l 3,000 0 3,000
OZNMHEA MHEA2Z 2 500,000& *62 3,000
202 044l 3,600 3,000 600
01 =LHOIHI 3,600 3,000 600
OFe 2= 0dbl 20,0003 «3&H 5L 122 3,600
301 et a= 5,000 5,000 0

o
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SN A= D
Ma: =2x0|8 2E

ool EOHQ =2XEA (e m el
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
10 SAIAHIEAS 5,000 5,000 0
OZOHQEHAL A B&Z3 50,000& * 102 x 103! 5,000
307 QIZtolA 23,000 21,000 2,000
02 QltFAEX 5,000 5,000 0
OZMAAESAE 2 5,000, 000% * 14! 5,000
04 QIZHHAIE X 18,000 16,000 2,000
OHeI=X&sdU2 & M=z 16,000,000& * 123/ 16,000
O X0l JIgaA 2,000,000& *13l 2,000
s% =2Xg2 29 200,000 0 200,000
SXsl2 M= 200,000 0 200,000
401 AlEHIZL 204 200,000 0 200,000
01 Al&HI 200,000 0 200,000
O=dg sXaa A= &b 200,000,000 14! 200,000
LosXSH 13,092,778 11,071,769 2,021,009
7,741,761
= 20,150
= 1,375,990
= 3,954,877
Lo=EXNEA 9,880,304 8,228,904 1,651,400
= 7,555,528
&2 5,699
= 224,636
= 2,094,441
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NSRS el &)
SN EY O (BH) - MR - Ba= Aol e =2t
ZEES HAAS 17,600 36,617 219,017
101 21244l 2,600 1,617 983
10 JIZHHZ22HsSEs 2,600 1,617 983
OSHILERXHYIIRAAUEE ZLEH) 200,000 138 ™ 2,600
301 et a3 15,000 15,000 0
01 ASI2EE=63 15,000 15,000 0
Ost&&AZI A& 150,000& 100 15,000
SoI=R=Y 1,173,600 0 1,173,600
301 et a3 1,173,600 0 1,173,600
01 AIE2EE=63 1,173,600 0 1,173,600
O = 600 35,000 =12 252,000
OAHZdZH| 6,400% x36,000& *4= | 921,600
MHEOIES 275,840 2,555,820 AN2,279,980
= 5,699
= 40,350
= 229,791
206 =4l 31,115 50,000 A 18,885
& 15,557
= 15,558
01 MZHl 31,115 50,000 A 18,885
OEZ A= 024l ™ X2 0lAH 31,115,000& 31,115
= 15,557
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M A2 S X
HA: LOoI=EXESH
ol oSS (e m el
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
i 15,558
301 et 4 s 127,465 2,485,360 A2,357,895
= 1,871
& 24,793
i 100,801
01 AIEEE =63 127,465 2,485,360 A2,357,895
Ok olHac 1,895,000& 1,895
& 1,871
i 24
OLCItEAIN XI& 38,400,000& 38,400
& 11,520
o 26,880
OF&gY ngEX HEU=S 2,400,000& 2,400
= 1,200
i 1,200
OLQIPC W=Hl XA 2,920,000& 2,920
= 1,168
o 1,752
OLEXD| XNJAL 22,350,000& 22,350
& 6,705
i 15,645
OLCIDIEANC THehalst A A EXIXA 70,000& 2009+ = 14,000
& 4,200
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m

40
o
{0

. CHRI () - NI A

0x
i

el

P
2

2A
R
J2H

0l
I

2,000,000 #1300 &
60,0003 25t =+ 134

HJ

9,800
26,000
19,500

HI

M

67,260
3,828
63,432

20,460

46,800

300,000& *13 =+ 12

20,460,000&

HI

HJ

67,260
20,460

3,828
16,632
46,800

20,460

46,800

50,000

50,000

50,000,000& » 14!

50,000
50,000

50,000

hnooW

M

,199,603
,384,331

163,054
652,218

5,269,110

2,930,493

oo

A

,199,603
,384,331

163,054
652,218

5,269,110

2,930,493
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SM: AE =2 X
M LoI=sXSH
ol Lol=xEd (e e
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
01 MIBEHHH3 8,199,603 5,269,110 2,930,493
OPIESER= 8,199,603,000& 8,199,603
= 7,384,331
T 163,054
= 652,218
Lols2E0Iud A& 47,581 123,282 ANT75,701
= 38,333
& 4,624
o 4,624
307 QI2to| A 47,581 123,282 NT75,701
= 38,333
= 4,624
o 4,624
05 oItee3@ 47,581 123,282 AT5,701
OLQ=20| "X ol2d| 47,581,000 47,581
= 38,333
o= 4,624
= 4,624
SHLOIME A AL OHA 166,080 244 075 NT7,995
= 132,864
= 16,608
o 16,608
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SER(E) - HRAY - B2

P
2

oW

M

166,080
132,864
16,608
16,608

Jn

166,080,000

H

Mo

166,080
166,080
132,864
16,608
16,608

hnooW

M

—_ =

, 744,463

30,000

,064,697
,649,766

H

H

—_

,835,979

973,997
861,982

in

M

—_

,835,979

973,997
861,982

]

1,704,379,000&

N

—

,835,979
,704,379

973,997
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m
40
o
{0

2A

R

J2H
0l
oy




m
0
]
o

SN - EB .S (5]H) - of . Bl O &b o e =32t
= 730,382
OMII=RIEXAIE2HH| 131,600,000 131,600
SIEE MEXA 60,000 520,000 A 460,000
= 30,000
== 15,000
iy 15,000
402 QI2EXE20lN 60,000 520,000 A 460,000
= 30,000
= 15,000
o 15,000
01 X2 EX 60,000 520,000 460,000
OLoASSMHE 30,000,000 *2JH 2~ 60,000
= 30,000
= 15,000
o 15,000
d24 29 560,284 505,423 54,861
= 25,700
o 534,584
301 LBEtEAZ 61,704 62,400 A 696
01 A EEE6= 61,704 62,400 A696
OZZ2Y 2tAlH| 61,704
—400! 0|8t 1850 2~ *54 ,000& x4 3| 39,960
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A At S X1
M LoI2X5d
ol L oIST AL B2 (e e
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
—409Q! 0]&~90¢Q! O et 73 272,000 *43] 21,024
—90¢e! 0l &t 291 2+90, 000 *4 3] 720
307 QIZtolA 498,580 433,023 65,557
& 25,700
= 472,880
02 UHAEX 498,580 433,023 65,557
OZ=2g293| 428,280,000 428,280
= 22,700
fiis 405,580
OZRE3I T2 Y2 (4UHEE g=HIZE) 1,800,000& x1H 62 10,800
OZ 2l XA 200,000& *260H 2~ 52,000
OZ2Y PCE= 500, 000& » 1504 & 7,500
= 3,000
s 4,500
ZZ2YAE HEAS 288,200 209,000 79,200
= 50,000
= 238,200
307 QIztolA 19,800 0 19,800
02 QItFAE X 19,800 0 19,800
OZ2Y JtAAE FLtdHAY N 30,0003 2604 2~ 7,800
OE2Y JHAANE EXHI| XX 60,0003 *200H 2~ 12,000
402 SI2tXHE0IHE 268,400 209,000 59,400
= 50,000
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m

0
e
0

SN EB - SR(BH) - MBAY - B e =32t

402 QI2EXE0| M iy 218,400

It NEE X 268,400 209,000 59,400
odzEoto# 2 20,000,000& 20,000
OZZE A0t Bd AR 6,800,000 * 134 2 88,400
OB ZEINE=ALS 20,000, 000& *3JH A 60,000
O24+ HH &2 M= 100,000,000& x 1Al 100,000
T 50,000
= 50,000

L OIAIS & X & 468,011 443,087 24,924
= 156,233
= 14,451
== 86,657
iy 210,670

Lol X2l AL 296,040 302,836 N6,796
= 148,020
= 74,010
o 74,010

Ol A H| 281,040 282,836 N1,796
=2 140,520
& 70,260
o 70,260

10 JIZHZ2ZXNEES 281,040 282,836 A1,79
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A At S X1
M LoI2X5d
&l SQAISI EH WX~ (cel &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
OLoldXtel At IR A (ATHE S L&) 281,040,000 281,040
= 140,520
= 70,260
i 70,260
201 etEd] 10,000 15,000 25,000
= 5,000
& 2,500
= 2,500
01 AtS2eld] 10,000 15,000 25,000
O olgdXtelAre R+ 10,000, 000& 10,000
= 5,000
= 2,500
[ 2,500
202 O4dl 5,000 5,000 0
= 2,500
= 1,250
= 1,250
01 =UWoitl 5,000 5,000 0
O gRtelAred =& 0| 5,000,000& 5,000
= 2,500
= 1,250
[ia 1,250
ol MERA 16,426 0 16,426
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S AFEI = XD
H: Lo=XSA
Crel: L OIANSI RO KI G
S BB ER(E) - HRAY - BYS 0 &2 e HIDE2
ColuKiels MR =2 8,213
[ 4,107
2 4,106
101 o124t 16,426 0 16,426
= 8,213
[ 4,107
2 4,106
10 JIAH22NSE S 16,426 0 16,426
OOl K2 AL ® EHol2101 = o (ATH 2 & E &) 16,426,000 16,426
= 8,213
S 4,107
2 4,106
LOIRE ALK 89,500 73,500 16,000
301 LB A 4,000 4,000 0
10 A2 AS 4,000 4,000 0
O QIS AR Al H| B A 2 50,0008 * 1024 *4 3| 2,000
OLQSXALEAIX DSES BA2 100, 000! *5& *43] 2,000
307 Q120 & 85,500 69,500 16,000
04 DIZHASZE 85,500 69,500 16,000
Owololy I A Xl 28,000,0002 *13] 28,000
owoltyst 29 4,000,000 *77§ A 28,000
O42&H HOIES 3l X2 2.,000,0002 * 14! 2,000
OXASAXNEH S SSAAH| 2.,000,0002 * 14! 2,000
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Ats| =X 1t
el =N =¥
LA # XA oo dA
SN - EHY .ol P 01l &k o e =2t
OZaHNSUHI HAX A 3,000,000 * 14! 3,000
OZXIALEH HIOIEZSWHE XI& 1,000,000 * 14! 1,000
OB Z2AL ZHIX& 21,500
-5 3,000,000& 1= 3,000
—SFgd 2,000,000& 1™ 2,000
—J|Et 1,500,000 *11JH&H 16,500
LA =AAH| 8,356 10,060 A1,704
201 LBt 4,756 6,360 A1,604
01 At 2te2ldl 4,756 6,360 21,604
OgBr=ZH| 250,000& 12 3,000
O=&Hl 7,0003 x3H+3L x 122 756
oY=z 500,000& »23| 1,000
202 Oidl 3,600 3,700 A 100
01 =Waodl 3,600 3,700 A 100
OL=EXgR=aA 20,0003 x3H 52 x 122 3,600
SOl AP X 57,689 56,691 998
= 14,451
= 8,540
= 34,698
307 2UI2t01& 57,689 56,691 998
= 14,451
& 8,540
= 34,698
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M A2 S X
M Lo=sXSA
SRl S OIANSIE O X (&9 H
A -H2A(EAH) - MY - BES O AkR gggﬁ HusS
03 AHHE=ZS 57,689 56,691 998
OZ=z2Aalg 294 40,289, 000& 40,289
= 14,451
[ 4,160
o 21,678
OuEssgd 23l 3,000,000 3,000
< 1,500
= 1,500
OIS AASHI 14,400,000 14,400
[ 2,880
= 11,520
oy - |0t SX&Z 3,662,825 3,847,856 A 185,031
= 1,699,037
< 736,539
= 1,227,249
HE=XEX 64,191 81,655 A7,464
= 2,500
== 7,190
ha 54,501
Ao A3 &0 & 50,691 50,855 A 164
o= 4,640
ha 46,051
201 et 13,156 13,400 N244
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m
0
e
0

SO (BH) - MBEAY - BAS of Ao S HRS2
= 2,160
iy 10,996
13,156 13,400 N244
EEZ H& 500& x1,000 *23| 1,000
ZAIE 1,000, 000& *33| 3,000
FAFE 600, 000& *123] 7,200
o= 2,160
= 5,040
7,000 *3H +3 «12& 756
HA XS 300, 000& x4 3| 1,200
2,880 2,800 80
2,880 2,800 80
;1] 20,000& x2H 6« 12& 2,880
1,000 1,000 0
1,000 1,000 0
u] 20,000 *10H x53| 1,000
6,750 6,750 0
6,750 6,750 0
29 M| 30,000& *25H x93| 6,750
7,500 7,500 0
7,500 7,500 0
A 2432 30,000& *50H *53| 7,500
19,405 19,405 0
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HE=XEX R
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
307 2I2t01 & = 2,480
= 16,925
02 DIZAMEE 2,405 12,405 10,000
OdolAzMie a=dl X 185,000 * 1304 2 2,405
= 480
o 1,925
04 QIZIHAIE X 17,000 7,000 10,000
OHAE=2tIEHAL 7,000,000& *13l 7,000
& 2,000
= 5,000
OWdM=sUzl 10,000, 000& 13 10,000
= - 454X 2 OIoHAHXI& 5,000 0 5,000
= 2,500
= 2,500
307 QIztoIA 5,000 0 5,000
= 2,500
= 2,500
02 QItFAE X 5,000 0 5,000
ONE=E" d=Z49X & O KX 5,000,000& =13l 5,000
= 2,500
i 2,500
A= A 8,500 30,800 A22,300
& 2,550
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M A2 S X
dM: Hd - 70t SASH
cHel: Ol =S el H el
CERI(BIH) - NIRAY - A S Akl e =
HE=ZE ALY i 5,950
307 22t01A 8,500
& 2,550
= 5,950
02 glztHa 8,500
OHd=E- 8,500,000& 12| 8,500
& 2,550
o 5,950
HALNERE 112,023
= 11,794
& 29,765
i 70,464
A2t XI& 9,000
& 2,700
= 6,300
307 2I2t0lH 9,000
& 2,700
= 6,300
02 QItFAE X 9,000
OHLIIE 9,000,000& 12| 9,000
& 2,700
o 6,300
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- SHRI(2IA) -

%
0x
i

e

P
2

H

H

51,560
13,764
37,796

16,000

ZUs0l X

4,000,000& *4Jt =

16,000
16,000

H

H

35,560
13,764
21,796

o
Jon
s
%0

1,000,000& x 103!

15,0003 x5J+ & +483]

(30,000 *3H %643 )+(30,000& *2H 20 )

9,000,000 x13]

100,000 «10E «6H 2

M

in

HJ

in

HJ

Mo

35,560
10,000
3,000
7,000
3,600
1,080
2,520
6,960
2,784
4,176
9,000
2,700
6,300
6,000
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SA ASISX 0
Ot

2 o - R
2 PSS

el AZIHE P el dH
A BB S(S) - NEAY - BES 04 4 o e =5

S 4,200
[ia 1,800

SHE20tE X& 31,760 31,760
< 10,928
s 20,832

301 LBtz 29,760 29,760
= 10,328
= 19,432

01 A2 A =63 29,760 29,760
OXHE&| 500, 0003 »2Al CH 1,000
< 500
[ia 500
OMETHE X 3,000, 000& =2 Al CH 6,000
S 3,000
s 3,000
Ottetd| 400, 000& *35A| CH 14,000
== 4,200
s 9,800
O 22l 100,000 *10All CH 1,000
== 300
s 700
oglt= NHE s 480,000& x12H 5,760
< 1,728

_31_




SA ASISX 0
Ot

2 o - R
2 PSS

Sl A28 7S (&t &S
SN HB S (BH) - MBEAY - BAS of Ao S HRS2

= 4,032
OFsHal M 2| 200,000& x10H 2,000
= 600
= 1,400

307 QIZ2t0| A 2,000 2,000 0
= 600
o 1,400

02 OQI2tHAE X 2,000 2,000 0
OStE2IIE x| Y JIZAIY 2 2,000,000& 13| 2,000
T 600
= 1,400

SIEEIIE NHEHYSE - = 14,743 17,670 N2,927
= 11,794
& 885
iy 2,064

301 LEtEAZ 14,743 17,670 N2,927
= 11,794
== 885
iy 2,064

01 A E&EE56= 14,743 17,670 N2,927
OstE2IE IHH &= - 1=l 589,720& x25H 14,743
= 11,794
== 885
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SA ASISX 0
Ot

2 o - R
2 PSS

gl AZIE 2 (cel &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2

i 2,064

022 HEXA 4,960 5,720 AT60
L= 1,488
= 3,472

301 LptBAaz 4,000 3,800 200
& 1,200
i 2,800

01 A2 H =03 4,000 3,800 200
OE4 0IEL MEAZE | 500, 000& »2 Al CH 1,000
= 300
= 700
Oftlelk Ag=adl 1,200,000 x1H 1,200
= 360
fiis 840
Oll22XtH Ma#2XH X2 600,000& 3% 1,800
= 540
i 1,260

307 QIztolA 960 1,920 A 960
= 288
= 672

02 QltFAEX 960 1,920 A960
O0lgZ2ld sskt<0 ItA 960,000 14 960
= 288
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SA ASISX 0
Ot

2 o - R
2 PSS

Sl A28 7S (&t &S
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
= 672
BFAHIA A 3,486,611 2,411,766 1,074,845
= 1,684,743
= 699,584
o 1,102,284
EFANE 2EXEH 113,125 179,100 65,975
= 23,689
o 89,436
301 B2 AZ 2,100 900 1,200
10 SAIAHIEAZ 2,100 900 1,200
OESHAI NEEA BN S 30,000& *70H * 13| 2,100
307 QIz2t0|A 111,025 178,200 N67,175
== 23,689
iy 87,336
02 0I2tZAYE X 111,025 178,200 AB7,175
OESAIE AN 2R2%E 100,000 =81 8,100
== 1,620
o 6,480
OE S DA HRIAHI 2,470,000& 122 29,640
T 8,892
= 20,748
Oalzt Bz Ald gy X3 4,100,000& *13] 4,100
& 1,640
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SA ASISX 0

Ha: 04 - R0t 2XNSH
Sl ESAHA S (B9 @8
SA-BH . (BH) - HIRAY - BES Ofl &F o8 gg;ﬁ; HDnz2
2 2,460
OAIMHOLOIS B & OFS (4,5H 01 57,685,0002 57,685
= 11,537
2 46,148
OFLXAL RURTH X2 500, 00024 *5H A 2,500
OBIIAIZHOIAIL RHIH X2 1,000,000 *57H 2 5,000
ORTUBSAL SEEsY N 2,000, 0002 x27§ A 4,000
BEEEAHA 680,070 599, 140 80,930
= 340,035
= 136,013
2 204,022
307 LI2tOIF 680,070 599,140 80,930
= 340,035
= 136,013
2 204,022
VRIS 680,070 599, 140 80,930
OESSEMHIA ZAX A2 680,070,000%! 680,070
2 340,035
= 136,013
2 204,022
DR 6,442 5,998 444
=2 3,221
= 1,288
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ESAMHIA

COANRISXI3

- =0t

09 Jit

CERI(BIH) - NIRAY - A S Akl e =

MPY M| = 1,933

307 2Z2t0lH 6,442 5,998
= 3,221
L= 1,288
= 1,933

02 QltFAEX 6,442 5,998
Ou it 644,200& 100 & 6,442
= 3,221
= 1,288
o 1,933

2 20,938 16,814
= 10,469
& 4,188
= 6,281

307 QIztoIA 20,938 16,814
= 10,469
& 4,188
= 6,281

02 QltHAEX 20,938 16,814
OXe2dt 116, 3222 * 1501 2123 20,938
= 10,469
< 4,188
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sXsd
Sk Ab t A
SA - CHRI(EIH) - HIRAY - BES kol ﬁiﬂi S
s 6,281
sz 1« 2,183,582
=2 1,091,791
= 436,716
= 655,075
BI2HOI® 2,183,582
= 1,091,791
= 436,716
= 655,075
DIFA AT X 2,183,582
HSESSXE 2,183,582,000& 2,183,582
= 1,091,791
= 436,716
o 655,075
PAESE X 157,076
= 78,538
S 31,415
= 47,123
oI2to| A 157,076
= 78,538
S 31,415
= 47,123
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SA ASISX 0

Ha: 04 - R0t 2XNSH
Sl ESAHA S (B9 @8
S HH - S(BH) - HEAY - BE=2 Ofl At o aﬁiﬂgﬁ HRZ2
02 QIAAMEZE 157,076 138,268 18,808
OBISKIOF RARS2 XY 157,076, 0002 157,076
2 78,538
= 31,415
2 47,123
0Nt PARSR N 85,662 49,116 36,546
=2 42,831
= 7,132
2 25,699
307 PI2HOIF 85,662 49,116 36,546
=2 42,831
= 17,132
2 25,699
02 PAANBE 85,662 49,116 36,546
OO0t PHBSE X 85,662,002 85,662
2 42,831
= 17,132
= 25,699
SRHOY 222 X 140,038 67,698 72,340
= 70,019
= 28,008
2 42,011
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FA:
X XH .
o Tt

ool

At2l = X 2t
e - R0t
ESAMHIA

09 Jit

m

40
o
{0

CESI(SIH) - HISAY - BYS O &b o e =32t

307 140,038 67,698 72,340
= 70,019
= 28,008
iy 42,011

02 DIZAMEE 140,038 67,698 72,340
OFXHolA Bga X 140,038,000 140,038
= 70,019
T 28,008
= 42,011

BFAE 66,000 32,000 34,000
= 31,000
= 14,400
o 20,600

402 012t 66,000 32,000 34,000
= 31,000
& 14,400
o 20,600

01 QI2tXEE 66,000 32,000 34,000
OBSAE MES AIE 30,000,000 *2JH 2~ 60,000
= 30,000
== 12,000
= 18,000
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SN ARSI Dt
dM: Hd - R0t =SXSA
Chel: BRAHIA EA el H el
SN EY O (BH) - MR - Ba= Aol e =2t
BAIE ZdlH 1,000, 0003 *2JH & 2,000
= 1,000
& 400
o 600
OUAESFAIE SZME A 1,000,000 *4 4 2~ 4,000
& 2,000
i 2,000
= 31,922 0 31,922
= 15,961
= 6,384
= 9,577
307 2I2t01 & 31,922 0 31,922
= 15,961
= 6,384
= 9,577
02 QltFAEX 31,922 0 31,922
OAl4 0018 Ot XA 59, 1143 x 180 +3 & 31,922
= 15,961
= 6,384
o 9,577
EEANE SAN BExUE 1,756 1,800 A44
= 878
& 351
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SA ASISX 0
g2 0d - =70t
Chel: B AMHIA

09 Jit

SA-FB L SA(3) - MEAY - BLS 0 &2 e ==l
EFAE BEANL BEFUS = 527
307 2120l A 1,756 1,800 N4
= 878
< 351
= 527
02 QItAASX 1,756 1,800 N
OESANESMT ExN=E 1,756,000 1,756
2 878
S 351
s 527
Ors=EXX&E 1,120,294 0 1,120,294
64,001
= 502,416
= 168,770
= 385,107
Ots=EXAE 249 615,500 0 615,500
51,916
= 342,160
S 19,142
= 202,282
Ors=EXAd 29 526,500 0 526,500
= 342,160
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SA ASISX 0
g ots=XKH

& Ots=EXAE 2Y (el &)
S B HRAEH) - MRAY - B 0 &t o4 e {InE=FT
ors=XIAd 22 S 600
= 183,740
301 2et2 4 s 7,500 0 7,500
= 2,160
= 600
= 4,740
01 AIEEHE =63 7,500 0 7,500
oogolg®= 30,000& x50 1,500
OEx0t=skE =3 2,000,000& 3 6,000
& 2,160
= 600
= 3,240
307 QIztoIA 489,000 0 489,000
= 340,000
= 149,000
02 QltFAEX 489,000 0 489,000
O0ts=EXAld 234 X2 40,750,000& x12& 489,000
= 340,000
o 149,000
402 U2t XHE01H 30,000 0 30,000
01 22R=Ex 30,000 0 30,000
OO0tsEXAIE JIsE2ZAE 30,000,000 * 170 2 30,000
NEotsdye 24 51,920 0 51,920
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SA ASISX 0
g ots=XKH

chel R e
& Ots=EXAE 2Y 2 (el &
SN B HAEH) - NRAY - B 0 &t o4 e {InE=FT

AgGotsdlH 29 = 25,960
& 12,980
= 12,980

307 QIztoIA 51,920 0 51,920
= 25,960
& 12,980
= 12,980

02 QltFAEX 51,920 0 51,920
OXN<Gotsdy 234l XI& 2,163,333 x20 212 51,920
= 25,960
= 12,980
o 12,980

Ots= Xl AL e124| 37,080 0 37,080
= 25,956
= 5,562
i 5,562

307 2I2t0l& 37,080 0 37,080
= 25,956
& 5,562
= 5,562

02 QltFAEX 37,080 0 37,080
OOts=XIw A 21244l XA 1,030,000& *3H «12& 37,080
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SA ASISX 0
g ots=XKH

&2l OtsEXAE 29 (9 ®2
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
= 25,956
= 5,562
o 5,562
Ots2ol &l & a4t 504,794 0 504,794
= 12,085
= 160, 256
= 149,628
= 182,825
Ots &tol & akat 487,530 0 487,530
= 160, 256
& 147,576
= 179,698
201 LBt 3| 1,840 0 1,840
01 At 2teld] 1,840 0 1,840
Olts=EX2d 222 HE S 500& 1,000 23] 1,000
O0ts=X2d 2ds &2 & 70,000 x3& *43] 840
202 04l 2,000 0 2,000
01 =Wobl 2,000 0 2,000
Ots=XgR F=EHY| 20,000 »2ZH x50 2,000
301 2et2 4 s 468,690 0 468,690
= 160,256
& 147,576




SN EY O (BH) - MR - Ba= Aol e =2t
2a= = 160,858
RS ESE = 465,690
LES0ts0d ZHXA 200,000& x5 1,000
250ls 234l A& 70,0003 x23E x12& 19,320
& 16,616
o 2,704
S0ts 24dl A& 20,0003 x16 I CH <12 3,840
= 1,536
o 2,304
S0ts Hi==Hl X& 140,000& = 16 Ml CH 2,240
& 672
i 1,568
S0ts 12 12 =] 600,000 43X 2,400
& 960
[ 1,440
Ots gsts stas2dz AH 160, 000& *42Y 6,720
o= 2,688
o 4,032
EiBl=0ts EAMHl X 200,000 =1 Al CH* 122 2,400
& 960
o 1,440
OO0t= =4dl XI& 371,070,000& 371,070
= 143,640
& 140,220
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[
0
e
0

SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2

H & = 2,052
= 2,052

a3z 13,680 0 13,680
= 9,576
& 2,052
i 2,052

E¥H 6= 13,680 0 13,680
EA=ONFE BN 30,000& *38H =123 13,680
= 9,576
& 2,052
= 2,052

HASAt L3 81,871 80,309 1,562
= 16,735
& 19,068
= 46,068

SAt 243 N& 81,871 80,309 1,562
= 16,735
& 19,068
i 46,068

ASAMUAEHZZ 20,400 20,400 0
& 10,000
= 10,400
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A At S X1
M UIASA 2435t
& NSAH 2435 K& (el &)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
201 LetEg] 400 400 0
02 23294l 400 400 0
OXNHSA Otk SEZZIH RAE* 400,000& 14 400
307 QIztoIA 20,000 20,000 0
& 10,000
= 10,000
03 AIHHExXS 20,000 20,000 0
OXNESAHEEH 234l X2 20,000,000 * 104 A 20,000
= 10,000
= 10,000
AR SA 243N 28,000 27,300 700
& 1,000
= 27,000
201 LetEg] 2,000 1,200 800
= 1,000
= 1,000
01 AR 2eldl 2,000 1,200 800
O/ uW=H| 100, 000& 20K 2,000
= 1,000
i 1,000
301 LptBaz 3,000 3,100 A 100
10 SAIAHIENS 3,000 3,100 A 100
OXNEASAA NEEA Baz S 50,0003 20 33| 3,000
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SN ASIS XD
Ha: A=A 245
Sl NHRSA BH N (B9 @2
S HH - S(BH) - HEAY - BE=2 Ofl At o aﬁiﬂgﬁ HRZ2
307 LI2tOIF 23,000 23,000 0
02 PAANBE 23,000 10,000 13,000
OXH& ZAXHCH 3l 10,000,002 *13] 10,000
OSSNASAEE X2 1,000, 00021 %1374 A 13,000
RAZAT AoH2E It X 3,000 2,713 287
= 1,500
= 450
2 1,050
307 QI2HOIF 3,000 2,713 287
= 1,500
= 450
2 1,050
06 2E2 3,000 2,713 287
ORAZAMT AHLE It X2 3,000,000% 3,000
2 1,500
= 450
2 1,050
RRZA ZOUI0IE TR0 30,471 29,896 575
= 15,235
= 7,618
2 7,618
101 1248l 30,471 29,896 575
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M A2 S X
Mo A=A 2AE
ol TASAH 285 K& (S ®&)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
101 el4H| = 15,235
& 7,618
= 7,618
10 JIZHHZ22HsSEs 30,471 29,896 575
OX&SAt 2ZCIUIOIE 1A H| 30,471,000& 30,471
= 15,235
o= 7,618
i 7,618
MPES (A= X 1) 150,000 150,000 0
LHEHH K& 100,000 100,000 0
LosIlia d&E3 100,000 100,000 0
02 JI3dES 100,000 100,000 0
01 JISdEZ 100,000 100,000 0
OLe=R0I3a &8 100,000, 000& 100,000
LHEHHKXI & 50,000 50,000 0
HEdNIIZ2 HE3 50,000 50,000 0
02 JI3dES 50,000 50,000 0
01 JISE=3 50,000 50,000 0
Odg®II= 50,000,000& 50,000
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